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THE OPEN UNIVERSITY OF SRI LANKA
- ADVANCED CERTIFICATE IN PRE-SCHOOL EDUCATION PROGRAMME

FINAL EXAMINATION - 2012
ESC2221 — ADJUSTMENT PROBLEMS IN EARLY CHILDHOOD

DURATION : THREE (03) HOURS

DATE: 12" January 2013 TIME : 1.30 p.m. — 4.30 p.m.

Answer all questions in PART I and three questions in PART II.

01.

02.

03.

04.

05.

06.

07.

08.

PART -1

i. What do you mean by “adjustment problems?”
ii. List out two (02) each, characteristics of a well adjusted personality and a
personality with adjustment problems.

How children will become analy fixated in the anal stage of psychosexual stages
presented by Sigmund Freud. ‘

i List out first four (04) stages of psychosocial development identified by
Erik Erikson.
ii. Briefly explain the basic ideas described in the .stage three,

Mention basic reasons for adjustment difficulties as explain by the learning
theories.

Explain the influence of siblings in social and emotional development of children.
i What do you mean by ‘school phobia’?
ii, Write down three (03) possible causes for school phobia.

How do you use the punishments to modify the negative behaviours of children
without emotional harm?

Briefly explain two (02) strategies that parents could adopt to help to overcome
adjustment difficulties of their children in home environment.
(8 x 5 =40 marks)



09.

10.

11.

12.

13,

14.

PART -1
i Explain the basic structure of the mind inline with the theory presented by
Sigmund Freud.
_ (10 marks)
i, Select an appropriate behaviour shown by a child as an example and
analyse it according to the basic structure of the mind you have mentioned
above.
(10 marks)
i. Describe the behaviours of parents which lead to develop mistrust and
guilty in children.
(10 marks)
ii.  Explain the role of parents in inculcation of well adjusted personality
qualities in children by minimizing mistrust and guilt.
(10 marks)
i What are the reasons can be influenced for excessive dependency and
shyness.
(10 marks)
ii. Discuss the steps that could taken by a pre-school teacher to minimize the
above mentioned adjustment difficulties?
(10 marks)
i. Citing examples discuss how do behaviours can be modified negatively
and positively using reinforcement.
_ (10 marks)
ii. “’Play’ in early years help to minimize the adjustment problems in early
childhood”. Citing examples examine this statement.
(10 marks)

‘Traditional extended family system contributes to develop emotionally balanced
personality in children rather than the nuclear family system’ Examine the above
statement,

(20 marks)
Write short notes on any two (02) of the following.
i Identification
ii. Classical conditioning theory

iii. Punishment,
(10 x 2 = 20 marks)



